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QUESTION 1

In a sharded cluster, from which node does one stop the balancer process before initiating backup?
A. Any node

B. replicaset primary node

C. config server node

D. mongos node

Correct Answer: D

QUESTION 2

Below is a sample document in a given collection test.

{a:5/b:3,¢c:2,d:1>

Given a compound index { a: 1, b:l, c:l, d:I}, Which of the below query will not use in- memory sorting? Select all valid.
A. db.test.find({a: 5, b:3}).sort({c:1,d:1})

B. db.test.find({a: 5, b: 3}).sort({a: 1})

C. db.test.find({a:5,b:3}).sort({a:1,b:1,c:1>)

D. db.test.find({a: 5, b: 3}).sort({c:1})

Correct Answer: AD

QUESTION 3

What is the defau size of a GridFS chunk?
A. 255 K

B.1MB

C.16 MB

D.2 MB

Correct Answer: A

QUESTION 4
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You have designed a web application with mongoDB. You have configured replication. The replica set is in place and
function properly. What happens in case of failure?

A. Switchover needs to be done manually
B. Failover happens automatically

C. Switchover happens automatically

D. Failover needs to be done manually

Correct Answer: B

QUESTION 5

What read preference should your application use if you want to read from the primary under normal circumstances but
allow reads from secondaries when a primary is unavailable?

A. secondaryPreferred
B. Secondary

C. nearest

D. primary

E. primaryPreferred

Correct Answer: E
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